0.75m’/s

0.10m%s
(m%/s) | (EL.m) | (m3/s)
1/365 1127 21.8 —
95/365 167 19.4 0.75
185/365 106 19.2 0.45
275/365 64 19.0 0.24
355/365 45 18.9 0.10
365/365 40 18.9 0.10
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1/1,000

40cm

- 16 -




| e T
1 o

. =

= T m— e =~
C _r'"_..t LS ) Ry
) e i

=T
e, T

- _,.,-'-"'} ,_--'—'h-

» ;g_ﬁd#: =

)

cb o)
=0.2m 0.5m § 7%

=0.5m/s 0.8m/s

-17 -

=0.2m 0.5m

=0.3m/s 0.5m/s




2,800m

1/1,000 ( 800m)
1/330 ( 2,000m)
( 20m 1 5.0)
( 15m 1 20)
0.10m*/s( ) 0.45m’/s( )  0.75m’/s( )
0.15m( ) 0.32m( ) 0.42m( )
0.13m( ) 0.31m( ) 0.41m( )
0.25m/s( ) 0.38m/s( ) 0.44m/s( )
0.42m/s( ) 0.68m/s( ) 0.79m/s( )
EL.18.9( ) 194 ( )
2.0
=35 6.15m
1 50 _ 1 50—
B . =0.15 0.42m
2.0m
=0.25 0.44m/s
=2.0 3.1m
1 20 1 20
- [ =013 041m
1.5m =0.42 0.79m/s
41k800
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